Periodic function: Arepeating pattern of y-values at regular intervals.

Cycle: One complete pattern.
The smallest portion of the function that could be
translated left and right to create the entire function.

Period: The width of one cycle (x-values)

Amplitude:

The vertical distance from the midline to either the maximum
or the minimum. y-values
OR

Half the total height of the periodic function

Midline (also called the Axis):

The horizontal line that passes through the
middle of the graph.
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If you can't tell by looking at the graph, this is how you find the Midline
and Amplitude mathematically.

Midline (Axis): y = Adex =i

Amplitude = 2Lax — A1 _ haf the total height
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1. Find the Period, Amplitude, and Equation of the Midline for the periodic

2. Find the period of each periodic function.
function shown below.
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Sketch a periodic i v Find the amplitude, period, and equation of the midline.
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Suppose f is a periodic function with a period of 10
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